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(CPM

0 CPM 10 1 19 27
10 CPM 20 7 55 77
20 CPM 30 85 99 139
30 CPM 40 88 108 125 175
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COP=(Cc/(Egc+Eec)+Ch/ (Egh+Eeh)) /2

COoP
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Eec
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Egh
Eeh
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10

12 —75%
10 15
10 15

703kg 16-615.9km/1

703kg 828kg 14714 1kn/1

828kg  1,016kg 14.013.5km/1
1,016kg  1,266kg 12.512.0km/1
1,266kg 1,516kg 10-29.8km/1
1,516kg  1,766kg 8.27.9km/1
1,766kg 2,016kg 7-06.7km/1
2,016kg  2,266kg 6-15.9km/1
2,266kg 5-04.8km/1
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600V 7000V
5kVA 500kVA
10kVA 2000kVA
100v 600V

50 15.3 06
60 14.4 0%
50 500 23.8 058

500 9.84 084
60 500 22.6 0%t

500 18.6 %™
50 22.9 o7
60 23.4 064
50 500 33.6 0%

500 24.0 o
60 500 32.0 o4

500 26.1 076

W
kVA
C 4304 C 4306 1474 1475
1.10
1.05
438 14 12 27

32




1.10

28kW

50
60

COP=(Cc/ (Egc+Eec)+Ch/(Egh+Eeh))/2

CoP

Cc kw

Egc kW

Eec kw 1 kWh 10,25010,050kJ 1
kw

Ch kw

Egh kW

Eeh kw 1 kWh 10525010,050kJ 1
kw

B 8627-2 B 8627-3

o 10.5L/
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